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QUESTION 1

Which two statements are true about DB time in V$SYS_TIME_MODEL? (Choose two.) 

A. DB time cannot exceed the total elapsed time (walk clock time) since the database instance started. 

B. DB time cannot exceed the maximum number of concurrent sessions multiplied by the actual elapsed time for each
session. 

C. DB time includes the time spent on client processes and background processes. 

D. Reducing DB time allows a database instance to support more user requests by using the same resources. 

E. DB time is always greater than or equal to the DB CPU time. 

Correct Answer: DE 

 

QUESTION 2

You want to capture AWR data to monitor performance variation every Monday between 9:00 AM and 

12:00 PM for three months and automatically remove the older AWR data every fortnight. 

How would you achieve this? (Choose the best answer.) 

A. Create AWR baselines. 

B. Create SQL plan baselines. 

C. Create repeating baseline templates. 

D. Create database services and make sure that user connections use them to connect to the database instance. 

E. Create a single baseline template. 

Correct Answer: D 

 

QUESTION 3

You have been asked to assess if using column store compression (previously known as hybrid columnar compression
or HCC) would help improve the performance of queries on some large tables. 

Which three aspects should you consider before you choose this compression method? (Choose three.) 

A. Check whether direct path load operations are used to insert rows in the table. 

B. Check whether the table is frequently queried using full table scans as column store compression only minimizes I/O
during full table scans. 

C. Check whether the table is frequently updated because it will have overhead for insert and update operations. 
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D. Check whether the table has LOB columns as it will minimize I/O for the queries. 

E. Check whether the table blocks are sparsely populated as this will defragment the blocks. 

Correct Answer: ABD 

 

QUESTION 4

Which two statements are true about wait events? 

A. A single resource wait event may be recorded as multiple waits, depending on the number of session timeouts during
that wait. 

B. A wait event can be defined in multiple wait classes. 

C. Wait event statistics are cumulatively collected only at the instance level. 

D. Wait events for an instance include statistics for both background and foreground processes. 

E. Wait event countries are incremented by the server process that waits. 

Correct Answer: BE 

Reference: https://docs.oracle.com/database/121/TGDBA/pfgrf_instance_tune.htm#TGDBA13014 

 

QUESTION 5

Examine the command: 

SQL> ALTER SYSTEM SET TEMP_UNDO_ENABLED = TRUE; 

Which two statements are true about setting the parameter value to TRUE? 

A. It improves performance because DML and DDL operations performed on temporary tables do not use the database
buffer cache and redo log buffer. 

B. It improves database performance by reducing the overhead on the PGA. 

C. It reduces the amount of redo generated for DML operations performed on temporary tables. 

D. It reduces the amount of undo stored in the undo tablespace. 

Correct Answer: BD 

Reference: https://onlineappsdba.com/index.php/2016/03/21/next-five-new-features-in-oracle-database12c-for-dbas-
part-ii/ 
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